x2y — 2xy + 3xy? & QIFEo|E A2?

@xy(x +3y-2) @ (x-y)(x+3y)
® (2x-y)(x-3y) @ xy(x-3y-2)
® (x=y)(x—2y)

x2y — 2xy + 3xy® = xy(x + 3y - 2)




@ (x-1)(x+1)=0

® (x+3)2=2x
X +1

@ 3 =

@(x+2)(x—2):x2+x+1

-3

Ox2-4=x>+x+1
sox+ 5= 0(EA FA4)
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@x2+3x—18:0 [-6] @ 3x2-x-10=0 [-2]
® 2x* +8x+3=0 [3] (@)2x2—2x—4:0 [-1]
® x*+8x-100=0 [§]

@3x(-2)2-(-2)-10=420
®2x324+8x3+3=45%0
® 82 4+8x8-100=28%0




4. OFA (x+y)(x+y-3z) - 422 o] F AA O Hog Qi
]IH 1

F A4 e

@2x+2y—3z @ 2x-2y-3z ® 2x-4y+ 3z

@ 2x+3y-2z ® 2x+2y+3z

B

(x+y)=A=std

A(A - 3z) — 422 = A% — 3Az - 47
=(A-42)(A+2)
=x+y-42)(x+y+2z)

(xty-4)+ (x+y+2)=2x+2y-32




5.

Ol AP A X2+ x + 3k

= 0(k # 0) ©|
Fstefet.

> E:

> = -4

B

ol k & uf, k o FE

Folxl Aol k & st
K4+k+3k=0, k2+4k=0
k(k+4)=0

oo k=—-4(k#0)




oYM 2% fax+b =09 7ty = -2 Fx=4 Y T,
e atofet,

QS
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> E:

> Het: 4

B ‘

2x% +ax+b=0 9 7}
x=-2FEx=40B2
2x +2)(x-4) =0

2(x2 -2x-8) =0

2x% —4x-16=0
SLoa=-4, b=-16

b -16
_ —4

a -4




@'O]i}-‘%]'%‘/ﬂ‘ x2—4x+a:0945_]-;_!-o]3%11q1’a94%1.1}
1

32-4x34a=0 5a
¥ -4x+3=0
(x=3)(x=1)=0

whebA The g 22 o]t
L 3-1=2

I
e
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(x=2)(x+4)=0
X2 4+2x-8=0

T a=2 b=-8
“a+b=-6




@ x=-2EEx=3

2FE=x=-3

X =

)

e

X = —

0
2x+3=0

(3x—2)(2x + 3)
3x-2=0%

=
—




@x(x -6)

@ (x-4)(x+2) ® x(x-4)

x-2=1% 2|&stdA
2-2t-8=(t+2)(t-4) = x(x-6)




